Manuals+ — User Manuals Simplified.

Woodpeckers Multi Router Machine Stand Instruction Manual

Home » Woodpeckers » Woodpeckers Multi Router Machine Stand Instruction Manual ™

Contents
1 Woodpeckers Multi Router Machine
Stand
2 Product Information
3 Product Usage Instructions
4 Parts List
5 HARDWARE BAG
6 INSTALLATION
7 Documents / Resources
7.1 References

Woodpeckers®

Woodpeckers Multi Router Machine Stand


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/woodpeckers
https://manuals.plus/woodpeckers/multi-router-machine-stand-manual.pdf

Product Information

Specifications:

o Legs: 4

« Short Top Stretcher: 2

« Long Top Stretcher: 2

« Short Bottom Stretcher: 2

« Long Bottom Stretcher: 2

« Carriage Bolt: 5/16-18x3/4 (32)
« Washer: 5/16 USS (32)

o Hex Nut: 5/16-18 (32)

« Hex Head Bolt: 1/2-13x2-1/2 (4)
« Washer: 1/2 USS Washer (8)

« Lockwasher: 1/2 (4)

o Hex Nut: 1/2-13 (4)

If you think you’re missing anything, email us at mailroom@woodpeck.com. You can also call us at 800-752-
0725 from 9:00 a.m. to 5:00 p.m. EST Monday — Friday.

Product Usage Instructions

Step 1: Align the Legs and Stretchers
As shown in Figure A, align the Legs (A) and Stretchers (B, C, D, E). The Legs will be on the outside of the
assembly. The Short Stretchers overlap the Long Stretchers on both the top and bottom sets.


mailto:mailroom@woodpeck.com
tel:+18007520725

Step 2: Install Carriage Bolts
From the outside, insert the 5/16-18 x 3/4 Carriage Bolts through all holes. Place a 5/16 USS Washer and a 5/16-
18 Hex Nut on each Carriage Bolt, but only finger-tighten them. Refer to Figure B for clarification.

Step 3: Attach Multi-Router to the Machine Stand

Place the Multi-Router on the Machine Stand and secure it using the 1/2-13 x 2-1/2 Hex Head Bolts and USS
Washer 1/2 from the top. On the underside, use a USS Washer and a 1/2 Lock Washer, and secure it with a 1/2-
13 Hex Nut. See Figure C for reference.

Step 4: Adjust Legs and Tighten Joints
Adjust the Legs so that they are even and flat on the ground. Once aligned, tighten the Nuts on all Leg/Stretcher
joints to secure the assembly.

FAQ:

Q: Is this product safe to use?
A: Yes, this product is safe to use. However, please be aware that it contains chromium, which is known to the
State of California to cause cancer and birth defects or other reproductive harm. For more information, please visit

www.P65Warnings.ca.gov.

Parts List

A. (4) Leg
B. (2) Short Top Stretcher

« C. (2) Long Top Stretcher
D. (2) Short Bottom Stretcher
E. (2) Long Bottom Stretcher


https://www.p65warnings.ca.gov

HARDWARE BAG

« (32) Carriage Bolt 5/16"-18 x 3/4"
32) Washer 5/16" USS
32) Hex Nut 5/16"-18

(
(
(
+ (4) Hex Head Bolt 1/2"- 13 x 2-1/2"
(
(
(

« (8) Washer 1/2" USS Washer
4) Lock Washer 1/2"
4) Hex Nut 1/2"-13

INSTALLATION

1. Align the (A) Legs and (B, C, D, E) Stretchers as shown, the Legs will be on the outside of the assembly. The

Short Stretchers overlap the Long Stretchers on both the top and bottom sets. Figure A.



FIGURE A

2. From the outside, install 5/16"-18 x 3/4" Carriage Bolts through all holes. Place a 5/16” USS Washer and a
5/16"-18 Hex Nut on each Carriage Bolt, finger tight only. Figure B.

3. From the outside, install 5/16"-18 x 3/4" Carriage Bolts through all holes. Place a 5/16” USS Washer and 5/16"-
18 Hex Nut on each Carriage Bolt, finger tight only. Figure B.

4. Place the Multi-Router on the Machine Stand and from the top attach with the 1/2"-13 x 2-1/2" Hex Head Bolts
and USS Washer 1/2". On the under-side, use a USS Washer and a 1/2" Lock Washer, secure with 1/2"-13 Hex
Nut. Figure C.



FIGURE

5. Adjust Legs so that they are even and flat on the ground. Tighten the Nuts on all Leg/Stretcher joints.

Woodpeckers®

PRECISION WOODWORKING TOOLS
Woodpeckers, LLC Strongsville, Ohio « woodpeck.com.

© 2022 Woodpeckers. LLC.

WARNING!
This product can expose you to chemicals, including chromium, which is known to the State of California to,
cause cancer and birth defects or other reproductive harm. For more information go to

www.P65Warrings.ca.gov.

Documents / Resources

—— Woodpeckers” ——
MULTI-ROUTER
MAGHIE STAND,

— Woodpeckers Multi Router Machine Stand [pdf] Instruction Manual
] Multi Router Machine Stand, Multi, Router Machine Stand, Machine Stand

References

« W Woodworking Tools Designed and Made in USA | Woodpeckers

. P65Warnings.ca.gov
» User Manual

Manuals+, Privacy Policy


http://woodpeck.com
http://www.p65warrings.ca.gov
https://manuals.plus/m/1984552f97277642865e5dbcc8281ff6400d517f2166a1ab17aca5683faeba72
https://manuals.plus/m/1984552f97277642865e5dbcc8281ff6400d517f2166a1ab17aca5683faeba72_optim.pdf
http://woodpeck.com
http://www.p65warnings.ca.gov
https://manual.tools/?p=11453218#MTY3LjcxLjg0LjkyOzs7Ow==
https://manuals.plus/
https://manuals.plus/privacy-policy

	Woodpeckers Multi Router Machine Stand Instruction Manual
	Woodpeckers Multi Router Machine Stand
	Product Information
	Product Usage Instructions
	Parts List
	HARDWARE BAG
	INSTALLATION
	Documents / Resources
	References



